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a)

8.1cm

Acc = ST xTrxic.2

Find the perimeter for each of these sectors

b)

Ac =323 XTTx9 .8¢

=g 360
= B .0 . _
=S 3 xTx14.6
w _ . 360
= 8ol 789 = 55 .25cm
= 24.726 e
P= 9.8+9.56 +55.25
3 The area of this sector 4 Find the radius of this
R —
6.4 cm 34 cm
O  Trxeyr =252 ST e, = 3
360 360
Q= 252 43w ol - 34
TIX6 42 1S7_ 11
260

t

70 .5° (ldp)

= JdE. B e

r= 12 . .4cm

Find the area of the segment (the shaded area)

7.7 cm ’

(9 .14

S xTx7-7° =
360

mmn.\._.dﬁ =
J\Yro«@g 4 _\M% Q.qvxfwsmwQu = 184

Secta- — lrea .F
(9.1 4 — [T.64

!Mgm.. = N cm E
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